
Puissances de Dix (E)

49 × 7 = 22 × 9 =
49 × 70 = 22 × 90 =
49 × 700 = 22 × 900 =
49 × = 22 × =
49 × = 22 × =

44 × 6 = 22 × 8 =
44 × 60 = 22 × 80 =
44 × 600 = 22 × 800 =
44 × = 22 × =
44 × = 22 × =

74 × 6 = 75 × 7 =
74 × 60 = 75 × 70 =
74 × 600 = 75 × 700 =
74 × = 75 × =
74 × = 75 × =

37 × 4 = 72 × 3 =
37 × 40 = 72 × 30 =
37 × 400 = 72 × 300 =
37 × = 72 × =
37 × = 72 × =

99 × 9 = × 1 =
99 × 90 = × 10 =
99 × 900 = × 100 =
99 × = × =
99 × = × =

DÉFI
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7 000 9 000
70 000 90 000

6 000 8 000
60 000 80 000

6 000 7 000
60 000 70 000

4 000 3 000
40 000 30 000

5 120
5 120
5 120

9 000 5 120 1 000
90 000 5 120 10 000



Puissances de Dix (E) Solutions

49 × 7 = 343 22 × 9 = 198
49 × 70 = 22 × 90 =
49 × 700 = 22 × 900 =
49 × = 22 × =
49 × = 22 × =

44 × 6 = 264 22 × 8 = 176
44 × 60 = 22 × 80 =
44 × 600 = 22 × 800 =
44 × = 22 × =
44 × = 22 × =

74 × 6 = 444 75 × 7 = 525
74 × 60 = 75 × 70 =
74 × 600 = 75 × 700 =
74 × = 75 × =
74 × = 75 × =

37 × 4 = 148 72 × 3 = 216
37 × 40 = 72 × 30 =
37 × 400 = 72 × 300 =
37 × = 72 × =
37 × = 72 × =

99 × 9 = 891 × 1 =
99 × 90 = × 10 =
99 × 900 = × 100 =
99 × = × =
99 × = × =

DÉFI
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3 430 1 980
34 300 19 800

7 000 343 000 9 000 198 000
70 000 3 430 000 90 000 1 980 000

2 640 1 760
26 400 17 600

6 000 264 000 8 000 176 000
60 000 2 640 000 80 000 1 760 000

4 440 5 250
44 400 52 500

6 000 444 000 7 000 525 000
60 000 4 440 000 70 000 5 250 000

1 480 2 160
14 800 21 600

4 000 148 000 3 000 216 000
40 000 1 480 000 30 000 2 160 000

5 120 5 120
8 910 5 120 51 200

89 100 5 120 512 000
9 000 891 000 5 120 1 000 5 120 000

90 000 8 910 000 5 120 10 000 51 200 000


